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1. WOl Roer [ue R =1 T grg U/~ 9aar 9aig s,
37) IRERST FIEHET SAT0T HETET 3NIRT BT IR {deh! g1, 3721 <Irer feq Iiqr
T
) IRRATIHr 1 3ea™ FATYHT IUFST e I e .

qIET 39T -
1) %eh 3T TT 2) %th ¥ I
3) Sl T T & I 4) LT A T T @G

Consider the statements given below and identify the option which is the correct statement/s.
a) Odum defined ecology is the study of the structure and function of ecosystems

b) The term ecology was first used by Ritter.

Answer Options -

1) Only a is correct 2) Only b is correct

3) Both a and b are correct 4) Both a and b are incorrect

2. WS Roear IRsIEET araERomEr 9% iSEr?
3T) AT IR Sl [AYagarsacs dAaiys e,
) AT TR G50l 0T TAERIG 90% ITST TR,
<h) GQ|“||"||('|“|(*) Glgdi?l Jdq 9T IARTd 9dedid.
©) Sie faamTa d91ie 71 9R 1RAR ar=iges eresard.
T 3 -
INGEIERS 2) HEER
R GIERS NEIEIGIER

Identify the layer of atmosphere from the following characteristic?

a) The width of this layer is greatest near the equator.

b) This layer contains dust and 90% of Earth's water vapor.

¢) Most of the changes in climate occur in this layer.

d) Jet pilots avoid this layer due to unstable winds.

Answer Options -

1) Troposphere 2) Mesosphere
3) Stratosphere 4) Ozonosphere

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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3. Wold [Rodl UM R =1 snior Iy [/ I9aal 19 o r,

37) TAR HIATE! SHTHITATT T ATSHUT & Hhalcs THICI=IGRATT TS AT FI3S
TSATARATST SITIIRT T H1T HRUATAT THISTSAT $THAT AT TR0 3 RZUTdT.
) Ty usde o 7 gVR WGEAR ShicHTdie Saaaydr dud T9oTe Th

FHRIT 3ATR.

T I -
1) %h 3T TT 2) %th § I
3) Sl T T F I 4) ST A T T AT

Consider the statements given below and identify the option which is the correct statement/s.
a) The ability of ecotones to act as habitats for endemic species that are not found in any
other ecosystem and are restricted to the ecotones is called boundary effect.

b) Migration of different species within ecotones is one of the reasons why ecotones are
rich in biodiversity.

Answer Options -

1) Only a is correct 2) Only b is correct

3) Both a and b are correct 4) Both a and b are incorrect

4. FoIT Tkl FETUT ST [QET ST F99 i Rl giesT e?

1) 3R TS 2) e

3) Tt 4) TH

Who formulated the following energy exchange efficiency rules related to energy cycle?
1) Arthur Tansley 2) Lindemann

3) Gouge 4) Taylor

5. WO® ool U =R =i ST 997 [9u/A SoaT i 31T,
) UIF MFAATGSET YR & I gRT TR fohal 3a% IATEhIIRE &,
) YRS AT) el ST Ut Sob! TR ST ST AT oA e ThT ST SRl TS OTaTcoATa Y

ST 3T,

qITET 39 -
1) ™k 3T I°T 2) h & I
3) Tl o T a9 4) T A T T I

Consider the statements given below and identify the option which is the correct statement/s.
a) Every food chain starts from autotrophic green plants or other producers.

b) Some organisms in an ecosystem operate at more than one trophic level in more than
one food chain at the same time.

Answer Options -

1) Only a is correct 2) Only b is correct

3) Both a and b are correct 4) Both a and b are incorrect

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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6. WD Ko dRsaasT aRfEdhT fREe e
) TG SiArEl AT A0 ITEhIRIT Jaides HeThiadd ged .
) g fURfe JEa: 3T (Upright) 3TEdT AT el THATGoA TS g7 [URTHE 3T (Inverted)
3T 2Tl
%) SITERGAT AMOT Hell [QAHITE A T g0 & a1 RS 7aier 31,
AT 3T -
1) I e 2) STTERAMTET g
3) FoiT fUHe 4) Sirgtear ke

Identify the ecological pyramid from the following characteristics?

a) The number of organisms in a food chain generally decreases from producers to tertiary
predators.

b) This pyramid is usually upright, but in some food chains this pyramid may be inverted.
¢) Lack of knowledge of biomass and energy exchange is a limitation of this pyramid.
Answer Options —

1) Pyramid of numbers 2) Pyramid of biomass

3) Energy Pyramid 4) Biosystem Pyramid

7. Wl e [ue R = sfer g Jum/A 9asr 1 e,

3T) ATIAT %‘I(%I“i?ﬂT ST THTOTT URRRIER TS STRoTT=T SITaySTTaT {@\ﬂl?lld)l ST 3T

AT
) HRST USITAT &7 HehoU=T T Jac I IT Y07 IRIA Higs ).

) I TSIl & Bh AIeTe 3.

I 3T -

1) %th 3T T § 99T 2) Bh 9 F IRT
3) Weh F 9 & AT 4) TISTHT I TG

Consider the statements given below and identify the option which is the correct statement/s.
a) Species that influence the ecosystem in excess of their numbers are called keystone
species

b) The concept of keystone species was first proposed by zoologist Robert Sen.

c) Keystone species are carnivores only.

Answer Options —

1) Only a and b are correct 2) Only b and c are correct

3) Only a and c are correct 4) All of the above are correct

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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8. SIAT HaTId Ao 3T & HebhedwT BT Jrad Hd?
3N T FaH ATISHT Wil STaenTz]

) T Folare RIS 3TN HiaTdS ST

&) FSETET WY A9

T 3T -

1) %th 3T T ¥ I 2) Bth § & IRT
3) Wheh 3 9 & I 4) WSTRT I I T

What does the concept of niche refer to?

a) Physical space occupied by that organism

b) The functional place of that organism in the ecosystem

c) Feeding habit of an organism

Answer Options -

1) Only a and b are correct 2) Only b and c are correct

3) Only a and c are correct 4) All of the above are correct

9. W%ﬁ%ﬁﬁﬁww 3ToT I [ /A ATSST TaTT TS,
gﬁﬁﬁﬁm@mmﬁﬁwmgﬁ%éﬁ¢ﬁ@@ﬁmwwﬁ
ED qT3T, 91957 & Soeold U3l STold IREI ISMEI0T 6.

T 39 -
1) %th 3T I°T 2) Bh § AT
3) Eel 3 F § I 4) LT A T T AT

Consider the statements given below and identify the option which is the correct statement/s.
a) Littoral zone, limnetic zone and profundal zone are the parts of the lotic ecosystem.

b) Marshes, bogs are examples of wetlands aquatic ecosystems.

Answer Options -

1) Only a is correct 2) Only b is correct

3) Both a and b are correct 4) Both a and b are incorrect

10. W et fou foerra = snfor O f[am/A sasar uaia streaT.
3T) YA AR FIRIATST U&l T H .
) DI [ZUheT TSR § 1974 T AR hoves UTgey IFRAR 815 38
%) 1971 T FWHRUATT AGST IHIAL TR 1975 T FHATT 37T,
T I -
1) ®th T T § I 2) Bth § & IRT
3) Theh 3 9 & I 4) WSTRT I I
Consider the statements given below and identify the option which is the correct statement/s.
a) UNESCO acts as the umbrella for the Ramsar Convention.
b) Coburg Peninsula Indonesia is the first Ramsar site nominated in 1974
¢) The Ramsar Convention was adopted in 1971 and entered into force in 1975.
Answer Options -
1) Only a and b are correct 2) Only b and c are correct

3) Only a and c are correct 4) All of the above are correct

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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11. IOoe Koo faum e @ anfor /g [am/A seoer 93T T,
37 TRER VT T s YaTes Nl 9 9 91 == @IsfoT [HHi9T B,
) TRiSIT wevR=ar vt Tfeha @rstor [HE|ioT gl =er.
F) HEGIT GIITHE & el TaTes MiihdT ThR 3R,

T I -
1) Bh 3T T § A 2) %th § 9 &% I
3) Th 3T T & I 4) TIAUST T TG

Consider the statements given below and identify the option which is the correct statement/s.
a) In barrier reefs, lagoon occurs between the reef and the island.

b) lagoon does not occur in freezing type coral reefs.

¢) Lakshadweep archipelago is a type of atoll coral reef.

Answer Options -

1) Only a and b are correct 2) Only b and c are correct

3) Only a and c are correct 4) All of the above are correct

12. TARRTe g eRe® IO T RleHATRIS T JTAET ATTRIT Fai=Id AIdT Tegdl JHS
JTOTOTATST PRI FRUIT AT & PRX A IHRST AT 24 HgART 2004 TRLA

T TR FAGISTION & STl

ERIRE

1) 99 R, 1989 2) fRUaT IR, 1885.

3) F<Iaeh R, 1987 4) IeTST IR, 1998.

The _ on the Prior Informed Consent Procedure for Certain Hazardous Chemicals and
Pesticides in International Trade. It was adopted in __ and entered into force on 24

February 2004.
1) Basel Convention, 1989 2) Vienna Convention, 1885.

3) Montreal Convention, 1987 4) Rotterdam Convention, 1998.

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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13. 379 U/ 3fieaT,
3) T2 IS Hhe BR FAHT =IsT (NAFCC) =T RUTIAT APRE, 2015 A HI0ATT AT,
S5 IRATAIG T AU haid T3] g JeaRl SJodd duarAr @=rdr
T el o,
) WERERX NAFCC FTTd MRAT ThediAT SAGISTAUIATST NABARD & T8
FAGSITEUIT TRAT (NIE) WA Ewh s o5 3R,

A
1) IS I TRIER 2) HIB F TR
3) 37 AT F ST RIS 4) 31 IO & LT IS

Identify the correct statement/s.

a) The National Adaptation Fund for Climate Change (NAFCC) was established in August,
2015 to support adaptation activities in the States and Union Territories (UTs) of India that
are vulnerable to the adverse effects of climate change.

b) NABARD has been designated as National Implementing Entity (NIE) for implementation
of adaptation projects under NAFCC by Govt. of India.

Options:
1) Only a is correct 2) Only b is correct
3) Both a and b are correct 4) Both a and b are incorrect

14. IFH TR fqam/ Faer
37) IRHRA TS qREST I¥ (ESY) 2030 U3d EBP SRIHHIAN Ueiamesd ST 8T 20
TR qoT SRoaTe TRERY 3EE 39 IR,
) 20% TS IMMOT 80% TSI IRAST MTerwifeeg FU= HOTHT E20 FU7 WO JaTaes
S

Iy
1) haes 3T 2) HIS &
3) 37 30T & Siar 4) Tehgl TE.

Select the statement/s which are not correct.

a) The Government has set a target of 20% blending of ethanol in petrol under the EBP
programme by Ethanol Supply Year (ESY) 2030.

b) E20 (20% ethanol blended) petrol is a mixture of 20% anhydrous ethanol with 80% motor

gasoline fuel volume by volume.

Options:
1) Only a 2) Only b
3) Both a and b 4) None.

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



9 TR WSS ITRAR
15. AT [Ty FeRe =
37) 2023 AT 28 T SN A 980 YRYE (COP28) &l 33 (JUS) T ST UIR IEai.

o) UNFCCC (United Nations Framework Convention on Climate Change) R O s
b IS5

%) AT IRYGHH GHT AT ThAT AT =T SO hoard ST,

T 39
1) ®7h & 2) Heh oF MO §
3) Thh 37 3T & 4) TSI T4,

Consider the correct statement/s.

a) The 28th UN Climate Change Conference (COP28) was held in Dubai (UAE) in 2023.

b) It was organized by UNFCCC (United Nations Framework Convention on Climate Change)
¢) In this conference, a fund called 'Loss and Damage' was introduced(established) .
Answer Options:

1) Only b 2) Only a and b

3) Only a and c 4) All of the above.

16. 3T U Haer.
37) HITS! XA TG [haT STl ST URFRAMT Sifdeh, A== SR Hd T2
& RIS TohaT o5 RAATAT STASURT VA ARV TG g HT HIeudral Tiohal
EUTS ‘SAfdes TARamIsIor 2.
) ST A FEEREEEN) FROATAT WA S R 3T Tey [ a1 <19 Tegdlr
TR

T
1) Th 3T SRIER 2) eh & SRR
3) 3 AT § ST <H 4) 37 0T T ST FTIH

Choose the correct statement.

a) Biomagnification is a process where biological organisms are used to remove or neutralise
an environmental pollutant by metabolic process(where the ecosystems that are polluted or
degraded due to human interventions) .

b) In-situ and Ex-situ remediation are two major groups of bioremediation treatment

techniques.

Options:

1) Only a is correct 2) Only b is correct

3) Both a and b are incorrect 4) Both a and b are correct.

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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17.  UNFCCC SRRTEAT =ehld AT TIEaRUaees & AT YR A6 Aeehles hIRaTg Hhvardol

HIVTT 2MET TR FI(SDG) ST 3T 3TR?

T
1) SDG 10 2) SDG 14
3) SDG 12 4) SDG 13

Which Sustainable Development Goal(SDG) has been set to take urgent action to combat
climate change and its impacts within the framework of the UNFCCC agreement?

Options:
1) SDG 10 2) SDG 14
3) SDG 12 4) SDG 13

18. 3T faum/4 =R =,
3) AAYE AUR aroft FrearsT s o&if RIgH (Blue Baby Syndrome) Erdr.
) Mf=ETET 97 71 U= [ANETYe BUTRT SdRIRYET (Nervous system) & 9T 378,
h) EE'I_% SE'Ig [T (Itai-Itai dlsease) el %ﬁ'ﬁl’ﬁl@:ﬁ ﬁ'ﬂﬁﬂﬁ'ﬂ% @'UTRT el T STI%
3) Hoh-Te INT BT FIIARTES Itk IT0ATe JIT hed= & IT gral.

qAET 3T
1) Hth AT & ) FHITFHS
3) Theh & 3TOT & 4) WISTRT 4.

Consider the correct statement/s.

a) Drinking water containing nitrates causes blue baby syndrome.

b) Minamata disease is a disease of the nervous system caused by mercury poisoning.
c) Itai-Itai disease is a disease caused by cadmium poisoning.

d) Black-foot disease is caused by consuming fluoridated water.

Answer Options:

1) Only a b ¢ 2) Only bcd

3) Only b and ¢ 4) All of the above.

19. 2T A9 AT, T ATIIRT ThUe! ATYeha 38 STl he, IS AT STeal RIS
WW T, amsﬁaaﬁmzqqﬂﬁaﬁmmﬁwﬁmﬁwéﬁw

TR STAATST FTHE STOT FHRT8T0T FHRugTaTs! [Iehidd e 3TTe.
1) GATEROT R 2) TR
3) ufReEzr 4) ITYRT TR

is a web based, role based workflow application which has been developed for online
submission and monitoring of the proposals submitted by the proponents for seeking
Environment, Forest, Wildlife and CRZ Clearances from Central, State and district level

authorities.
1) Paryavaran Svasthya 2) PARINIVESH
3) PARIVESH 4) None of these.

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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20. IS shiee HeHTd WAUh! hioTd [SUTT IRT AT

1) IS Shise & AT Il Uelhics AT 3Te.

2) HIET SHATTAES ST I AW g FHla shige G IRT IR,

3) gth AT TATERIT HRHH (UNEP) 7 Jaldesl faiRa shosedm ThAdiar Fre shisgen
MR =Tl

4) IAS RISATIET FHHI IS FTHOTAT 2T [haT IESHT AT shisg oo SITATd.

Regarding carbon credits, which one of the following statements is not correct?

1) The carbon credit system was ratified in conjunction with the Kyoto Protocol.

2) The goal of the carbon credit system is to limit the increase of carbon dioxide emission.
3) Carbon credits are traded at a price fixed from time to time by the United Nations
Environment Programme(UNEP) .

4) Carbon credits are awarded to countries or groups that have reduced greenhouse gases

below their emission quota.

21. YA FEATHAR M [hRITT WSS HIOTAr IS 3.
37) foerI gaesjad
) FoTadterdas qaaRoT T FSETETET FHE T S
%) SR, 3T, JolT, UTUN STTOT IT=SAT AT IR goT HI0T.

) IATYA T&ToT 3NfOr HHT FHRT.

T 3R

) FATHS ) TAFS
HATH HTFHE

Which of the following are the goals of sustainable development according to the Brundtland
Report?

a) Reviving Growth.

b) Merging environment and economics in decision making.

c) Meeting essential needs for Jobs, Food, Energy, Water and Sanitation.

d) Conserving and Enhancing Resource Base.

Answer Options:

I)abcd 2)acd

3 abc 4Hbcd

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



12 AT HE IRAR

22. Y&l YT fohdl Strear aig stmgar

31) SAITITIAT hIFeT - 2002.

) 9 (TGHOT FRETT F (F=0T) hraar - 1981.

&) ST (FTOT FHR&T0T F FF=0T) Il - 1976.
DERRGECRNEIRE! - 1980.
BEREIERREIPED - 1972.

TIRT IR

1) 911 2) IR

3) & 4) A

How many of the following pairs are correct?

a) The Biodiversity Act - 2002.
b) The Air (Prevention and Control of Pollution) Act - 1981.
¢) The Water (Prevention and Control of Pollution) Act - 1976.
d) The Forest (Conservation) Act - 1980.
e) The Wildlife Protection Act - 1972.
Answer Options:

1) Five 2) Four

3) Two 4) Three

23.  ISI HATIS 2T (The Energy Resources Institute/ TERI) EEll %@?f, R TS EEEI T i 1)
ST Tl F TRl XM IS oISl JeASIarar aTdY FROMRT T Tesd
TIRRId Sl 38, IT Y RIS HIel gesiardr U g daR el 8. & Jeisia
TE A BT AT WS doTe [THe 98g T0Tdl. JHSIarer a7 99 egRT _ 319
1T IR,

1) 3 Feex 2) SchATGIRTT TGHHTI
3) 3ATge MR 4) ATHAR

The Energy Resources Institute/TERI, New Delhi, has developed a method using microorganisms

to remediate oil spill and spill sites. This organisation has created a group of some of the
microorganisms in nature. This microbial community causes the breakdown of crude oil at
the site of the oil spill. This group of microorganisms is called .

1) Oil shelter 2) Alcanivorax Borkumensis

3) Oil zapper 4) Oilivorous

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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24. FSUTRHES UG I FHIAWE ST (IPCC) TEh g [/~ [a=amTa =m.
37) B 950 MO AT [ATTe IROM A7 [IareaR Y0l SPMeT T 0T AT ToHH
T ATfRdT SUTRY 2 STaR=TS H=eT aﬂé
a)mwm%ﬁ?éml%smﬁagm TSI YATIROT SHTAsHH (UNEP) STTOT ST gaTHTZITAT
Fgedr (WMO) T o,
%) & AgeT Thdes WMO 30T UNEP =T IEI6d ool 318,
) T ERYT AT U IS TRIRId oheh 3TE.

T 3

)ATH 2)dh S

3) Thth 37 3MOT § 4) TASYHT AT AT,

Consider the correct statement/s about the Intergovernmental Panel on Climate Change
(IPCC) .

a) It is the scientific group assembled by the United Nations to monitor and assess all global
science related to climate change.

b) The association was established in 1988 by the United Nations Environment Program
(UNEP) and the World Meteorological Organization (WMO) .

¢) The organization is open only to members of WMO and UNEP.

d) This organization has published five reports so far.

Answer Options:

l)abc 2)bcd

3) Only a and b 4) All of the above.

25. ERd gaM T (Green Climate Fund) HS¥Td I99 990G faam 3fiesaT.
1) B qu?ﬂ IR AT I (Mitigation) TSI ATOTATHATST [Ahea-T3ich T
Aed = Tal a1 2 UNFCCC S AT =T 2T AT 3T,
2) B Mt eraeile aer IEMYle [faT Uehed, SR%A, 9RO T A% HaHT MYS
e Hi.
3) 2009 T HYTRIT Y STTHedT COP - 15 T WIhRIGTT ST hiuTedT IR
DI ERd g [t 9T 3P AAUUH FRATT AT, 2010 T STHAT T COP - 16
T A7 =T IO ST ST
4) ST ofeh (World Bank) 2 a1 =i arezar foraa "o & .
Identify the incorrect statement regarding Green Climate Fund.
1) This fund was established under the UNFCCC to help developing countries to adapt and
mitigate climate change.
2) The Fund will finance various projects, programmes, policies and other activities in
developing member countries.
3) The 'Copenhagen Green Climate Fund' was first mentioned in the Copenhagen Accord
adopted at COP-15 held in Copenhagen in 2009. The fund was established in 2010 at COP-
16 in Germany.
4) The World Bank served as the interim trustee of this fund.

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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26. YRIAUDT HIVIH/AT TATEGRUT TS SHSl/SISAT Tehral/<=T 3TTR?
37 fITE Tbacs- ISRAM- STAT JdT STOT ST |
) Row ToTs- ITEE- SRS IO , JRIed!, el TAE g AL
F) TASGC =il ATIdT TBTB- hich- hicd Al TRTg U7 JHSTHHNT.
3) TS THTs- WER- Sieandie sfeardr.
3) ST TETS SATIG- HAeH - IgST 2ITe.

T 3R
1) 3T, F 3T ® 2) 3 JMOT g
3) 37 3MOT 4) Bth S

Which of the following environmental movement pair(s) is/are incorrect?

a) Bishnoi Movement- Rajasthan- Amrita Devi and Villagers.

b) Chipko Movement- Uttarakhand- Sundarlal Bahuguna, Gauradevi, Chandi Prasad Bhatt
etc.

c) Silent Valley Vachwa Movement- Kerala- Kerala Sahitya Parishad and Sughantakumari.
f) Appiko Movement- Tribals of Bihar- District.

r) Jungle Bachao Andolan- Karnataka - Pandurang Hegde.

Answer Options:

1) a, b and ¢ 2) d and e

3)aandd 4) Only d

27. T WITAT, TGIOT, AT EXA4TIHos SUTeAT TRRATTRRT a8 elohes ATed [ehal
TSTTh<AT hTeATd BI9aTT STl 377, 313 Hitgad dial A {RATdIe hivTal AR S
HATRA?

3N) HIART RTSRAT) ) gaad (A )
&) Hlhed ARER (@AUMIR) ¥) FIUR WA HAERTE)
qaiy:

1) 37 mfor 9 2) 3 AfoT ©

3) 37 IOT & 4) TSTRT H4.

Which Ramsar sites in India are in the Montreux Record changes in ecological character
have occurred, are occurring, or are likely to occur as a result of technological developments,

pollution or other human interference?

a) Keoladeo (Rajasthan) b) Sundarbans (West Bengal)
c) Loktak Lake (Manipur) d) Lonar Sarovar (Maharashtra)
Options:

1) aand b 2) a and d

3) aand c 4) All of the above.

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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28. el YgWOT AT Hew (CPCB) HEHTA 3Te@ o fa=aRTa .
3 & Tk FuTh TR g foelt WO R, 1974 H S (W7 wiasy 7 o)
TATH, 1974 T TS
) AT HSBIT gaT (AGHOT Yiaae & =0Ty a1fafem, 1980 did areia ATUSHR T Hrd Y&
FROGTT AT,
) el HeH & IS HeRrAIad TR0 JgWoT Wiy T FAH-TATS SIA0M=AT Shrai=an
AFHTATIUIATET TSR 3.

T 349
1) 3T SfTOT § 2) 3T IOT &
3) § 3NfoT & 4) STHT H4.

Consider the correct statements regarding the Central Pollution Control Board (CPCB) .

a) It is a statutory body and was established in September, 1974 under the Water (Prevention
and Control of Pollution) Act, 1974.

b) Additionally, it was given powers and functions under the Air (Prevention and Control of
Pollution) Act 1980.

c¢) Central Board along with State Boards are responsible for enforcement of laws for
prevention and control of environmental pollution.

Answer Options:

1) aand b 2) a and ¢

3) b and c 4) All of the above.

29. MIRT ¥ST-6 (BS-6) TohaT WRA ST-VI (BS-VI) & YRd IIHRA I hoveh IcdsT HHH 3TE,
T JF 1Y TSl HIER e YT gadie Aguehiear Mid FEaT $RoT. BS-VI vRdrd
hegl B HROATA ATH?

T
1) 1 STHERT, 2020 2) 1 TV, 2020
3) 1 TN, 2021 4) 1 STHERI, 2021

Bharat Stage-6 (BS-6) or Bharat Stage-VI (BS-VI) is an emission standard set by the
Government of India, its main function is to regulate the generation of air pollutants from

motor vehicles. When was BS-VI implemented in India?

Options:
1) January 1, 2020 2) April 1, 2020
3) April 1, 2021 4) January 1, 2021

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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30. Whel TR, 2001 FSHIT ST G TATer?

37) CIhe IR AHET ARFT T TSRO [eh JTE0=T ATGd UGNHARIT (Persistent
Organic Pollutants) J=&TIT UG 3T 3R,
) & TSI o2l Heiad =R 3Te.

LRIy
1) %h A 2) eh
3) T T 4) AT ATE,

Which is not true about the Stockholm Convention, 2001?

a) Stockholm Convention is a global treaty that aims to protect human health and the
environment from the effects of persistent organic pollutants (POPs) .

b) It is an endosulfan ban related convention.

Options:
1) Only a 2) Only b
3) Both a and b 4) None of these.

31. WS UM [ERT =7 for ang g3 [Hder.
37) SIEATYdr glewrg & Ahed T A= 9 AT Ao
) SIS THOT SIACTTHdr Bleigdl 4 YRA 3Ted AT [eHIad, 98 91e, gel-aAT

ST SMOT GaToss IraT AHTSRT il

T IR
1) 3 I 3T 2) ¥ Y 3ME
3) 37 IOT & T 3R 4) TAFUH FHIVTde! F9T ATEl

Consider the following statements and choose correct option.

a) The term ‘Biodiversity Hotspot’ was coined by Norman Myers.

b) Out of the total biodiversity hotspots in the world, 4 are in India which includes the
Himalayas, the Western Ghats, the Indo-Burma region, and the Sundaland.

Answer Options:

1) Only a is correct 2) Only b is correct

3) a and b are correct 4) None of the above are correct

32.  HFG SO SHATEROT AW §F HRHH DHIOTAT TR ITH HosT?

1) UNEP 2) IUCN
3) UNESCO 4) UNDP
'Man and Biosphere (MAB) ' programme was launched by which organization?
1) UNEP 2) TUCN
3) UNESCO 4) UNDP

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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33, SIETEROT EE AT WISIGTHT HIOTAT TS AHET EXd8T qoigor yiasferd sme?
1) ISR 2 2) THR T

3) FhHAYTTHS S 4) ITUhHT TR
In which of the following zones of biosphere reserve, the human interference is completely
prohibited?
1) Core Zone 2) Buffer Zone
3) Transitional Zone 4) None of the above
34, SiiedT ST,
EEICIERCINGTE IEEP)
3) ¥Eg (CITES) i) ITCEIT SATOT BTG IS
ENGIR ii) ST IRTgTT
%) AT iii) ITSHTART TSI HETIT SOT AT
T) HISTSHT iv) TR TSI SR
ERIE TSRS
I § &

) iv il i
2) iv il i
3 ivo i il

4 i i v

ii
i
ii

iii

Match the following:

Biodiversity Conventions

a) CITES i) Access and Benefit Sharing
b) Bonn ii) Biosafety
¢) Nagoya iii) Protection and Conservation of Migratory Species

d) Cartagena
Answer Options-
a b c
1) iv i i
2) iv il i
3 iv i iii

o i i v

ii

ii

iii

Subject

iv) Trade in Endangered species

T HHTETS! ST /| SPACE FOR ROUGH WORK
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35. IR WM SHedToT HESMAT JFeHid Wioia 99 =Rt &
3T) T HEBTH RATIAT AT AT UTdasT BT, 1960 T HoaTd el 3R,
) B o AHITSH, TUTS 3R IR HATSITAT S Ueh T TGP TRAT 378,
%) BV 3T6ges T HSATAT ATIATS! IRTHR I,
T) AT HeAE THATHT TgHiTe I 3

AU HIoTAT [T TR ATRa?
1) 31, Fanfor g 2) 3, F O &
3) &, § AT & 4) F, 9, F AMMOT ©

Consider the following statements with respect to the Animal Welfare Board of India:

a) This board was constituted under the The Prevention of Cruelty to Animals Act, 1960.
b) It is a statutory advisory body under the Union Ministry of Fisheries, Animal Husbandry
and Dairying.

¢) Rukmini Devi Arundale pioneered the setting up of the Board.

d) The headquarters of this board is at Ballabhagarh

Which of the statements given above are correct?

1) a, band d 2) a, b and c

3) b, d and c 4) a, b, cand d

36. WISTHART HIVTAT UTOT MIKE HIAHHTRN Hsierd TTe?

1) =it 2) AT

3) ofe 4)

Which of the following animal is associated with MIKE programme?
1) Elephant 2) Tiger

3) Lion 4) Cheetah

37.  WTAYIeh TR0 M Sreremas 7 Fas wferesor =i uToET Sorar aut e
1) 2002 2) 2003
3) 2004 4) 2005
In which year 'Compensatory Afforestation Fund Management and Planning Authority
(CAMPA) ' was established?
1) 2002 2) 2003
3) 2004 4) 2005

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



38. STredT S[oadT:
IS A/ AR RIED)
3T) hS BITSTSA i) g
) Ty Samar ii) AT
) ATHSHT iii) AOTY
S EIETED iv) STHUTES Ye3T
T IR

I 9 & §
) v il i i
2) i i iv i
3 i il iv i
4) i i iv i
Match the following:

National Park/ Sanctuary State
a) Keibul Lamjao i) Meghalaya
b) Dibru Saikhowa ii) Assam
¢) Namdapha iii) Manipur
d) Nokrek iv) Arunachal Pradesh
Answer Options:
a b ¢ d

) iv i i i
2) i i iv i
3 i i iv il
4) i i iv i

39. ERT BRA SATAfEROeT (NGT) Teid WTolicddhl Shivrd e e 3e?
1) NGT 9T IUT9AT IS BRA =ATATHOT FHITET, 2011 edTd 0T Tl 3TE.
2) T Yuides 3TeHE, AIh G MO I e IRAAT.
3) TATEROMEIT Harad He@qoT Ty ATATISRONA Job ATIDHR #7 IT.
4) NGT 9t Ja&hrr g f3swrmt sga, 7 Rgr § v Jed fewror e snfor 9=,
HIGHIET, JoT, UTeS & 3a3 IR [SehIoT 31Ted.
Which of the following statement with respect to the National Green Tribunal is incorrect?
1) NGT has been established under National Green Tribunal Act, 2011.
2) It consists of a full-time chairperson, judicial members and expert members.
3) The Tribunal has Original Jurisdiction on matters of substantial question relating to
environment.

4) The NGT has five places of sittings, New Delhi is the Principal place of sitting and
Chennai, Kolkata, Pune, Bhopal are the other four.

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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40. IS ATT JFUT WIAHOT (NTCA) =T HEHId, Wl (9 [a=mRrd =im:
37) TRPR TNeh hI<AT RIRRIAMT UTa™Tg WO 2005 A A6l IUTIHT HRoaTd Mo
) 1972 AT TSI (FRE0T) HEAAAR AT IATIAT FHI0GTd 3T,

TASTRT HIOTd I SRS 38 /3ATd?
1) &th 2) Bh &
3) 3T 30T F Srar 4) 3 [haT  AT8r

With reference to National Tiger Conservation Authority (NTCA) , consider the following
statements:

a) It was established in 2005 in response to the Tiger Task Force's recommendations.

b) It was established in accordance with the Wildlife (Protection) Act of 1972.

Which of the statements given above is/are correct?

1) a only 2) b only

3) Both a and b 4) Neither a nor b
41. STredT S[eaT:

IR Sregr

37) APRER i) AT

) TFBIE- JRF ii) TEHTTR

EDREEICEC) iii) gHeTom

©) AT iv) S

T 3T

I d <& ¢©
1) v dii i i
2) i i iv i
3 i i il iv
4) i i iv il
Match the following:

Wildlife Sanctuary District
1) Sagareshwar i) Sangli
2) Deulgaon Rehekuri ii) Ahamadnagar
3) Ambabarwa iii) Buldhana
4) Naigaon iv) Beed
Answer Options:

a b ¢ d

1) iv il i i
2) i i v i
3 i i i v
4) i i iv i

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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42. 2023 TS AT AT FSTSTAR TRATT fhdl a9 EA?

1) 2826 2) 2967

3) 3067 4) 3167

How many tigers does India have, according to estimates from the latest tiger census in
2023?

1) 2826 2) 2967

3) 3067 4) 3167

43, WIHISTRT RIS [SHIOT "Hiee dicy TR IS NSES ST?

1) 99 AT AL GECARIED

3) et dara 4) PIg= qAT

Which of the following place is known for “Salt water crocodile”?

1) Gulf of Mannar 2) Bhitarkanika

3) Chilika Lake 4) Kolleru Lake
44. JITheha TS

1) 9T NN dai=l TANYS 91

2) THUBNT TIdT deFd 9

3) HIATET JdThdT 1@

4) WS T

Eutrophication means

1) excessive richness of nutrients in a water body
2) decrease in growth of algae

3) increase in fertility of soil

4) all the above

45. Heiafeddr &g g7 2o [ASaoaradr 3THoR s Sivrd Ared?

ENSICR IR REIERGIT

) W AR YS! 9=

T IR

1) %h 3T 2) Oth &

3) 37 3MOT § el 4) 37 ITTOT & ST ATRr

What are the criteria for getting the status of Megadiversity Centre?
a) Species Richness

b) Degree of endemism

Answer Options:

1) Only a 2) Only b

3) Both a and b 4) None of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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46. STredT S[e54T:
I ThmeT v
) TS i) 1987
) Y8 Uier i) 1992
&) Ier iii) 1996
©) &l iv) 1970
Y IR

I d & §
) v i i i
2) iv i i i
3 i i il iv
4) i i iv il
Match the following.

Conservation Project Year
a) Project Hangul i) 1987
b) Red Panda ii) 1992
¢) Rhino iii) 1996
d) Elephant iv) 1970
Answer Options:

a b ¢ d

1) iv il i i

2) iv i i ii
3) i i i iv
4) i i iv i

47.  WRA TRHRA UTEeh AL a7 FIROT HI0TT a67 ST Shoy?

1) 1952 2) 1962
3) 1988 4) 1980
In which year First National Forest Policy issued by the Government of India?
1) 1952 2) 1962
3) 1988 4) 1980

48. WTSIGUDT BT TA-AE JTUT Sfhia TS AL

1) TS ARG 2) IS I

3) SRy e & 4) ITHAT I
Which one of the following is not included under in-situ conservation?
1) Wildlife Sanctuary 2) National park

3) Biosphere reserve 4) Botanical garden

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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49. Efear e 3ifh wive RUIe-2021 TR, RATAIG THOT I 70T Feresiiad fordr sme?

1) 24.56% 2) 24.52%

3) 24.64% 4) 24.62%

As per the India State of Forest Report-2021, what is the total forest and tree cover in
India?

1) 24.56% 2) 24.52%

3) 24.64% 4) 24.62%

50. TIYIIAMORIA gaThe SIAMT YSiTdi=an [Afqaa s e ga?

1) 912 B 2) HT BT

3) < B el 4) T e

What happens to species diversity as we move away from the equator towards the poles?
1) Increase 2) Decreases

3) Unchanged 4) Same

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



